
UBEcertified

(1) shall be one value per each interpolation family

(2) shall NOT be declared by manufacture because

lower value : manipulate the MPRi

higher value : may obtain unfair bonus if this number is

used for incentive scheme

(3) shall be aligned from “measured value” to “certified value”

i.e. apply adjustment factor ( for determining phase PER) 

(4) shall be selected according to one of the followings in case of multiple testing

(i) average (XV_H, XV_M, XV_L)

(ii) maximum (XV_H, XV_M, XV_L) 

(iii) minimum (XV_H, XV_M, XV_L)

then round to the nearest whole number

JPN proposal (worst case for durability requirement,
not so huge impact on incentive when applicable)  

How to define the UBEcertified ? 
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UBE V_H 36.34...

NA

36.34...×0.98...
=35.84...

36V_M 35.28...
35.28...×1.0

=35.28...

V_L 37.32...
37.32...×0.96...

=36.24...

PER

or

EAER

V_H 365.12... 360
360/365.12...

=0.98...

NA

360

V_M 377.84... 380 1.0 378

V_L 415.34... 400
400/415.34...

=0.96...
400

*: if X<B, C=1.0

<sample> calculation process of the UBEcertified


